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QUESTION 1

What correctly describes the order in which algorithms, if plugged in, are executed when a bill changes from the
"Pending" state to the "Complete" state? 

A. Service Agreement Type - Pre-Bill Completion; Service Agreement Type - Bill Completion; Customer Class - Pre-Bill
Completion; Customer Class - Bill Completion; Customer Class - Post-Bill Completion 

B. Customer Class - Pre-Bill Completion; Customer Class - Bill Completion; Service Agreement Type Pre-Bill
Completion; Service Agreement Type - Post-Bill Completion 

C. Customer Class - Pre-Bill Completion; Service Agreement Type - Pre-Bill Completion; Customer Class 

- Bill Completion; Service Agreement Type - Bill Completion; Customer Class - Post-Bill Completion 

D. Service Agreement Type - Pre-Bill Completion; Customer Class - Pre-Bill Completion; Service Agreement Type - Bill
Completion; Customer Class - Bill Completion; Customer Class - Post-Bill Completion 

E. Service Agreement Type - Pre-Bill Completion; Customer Class - Pre-Bill Completion; Service Agreement Type - Bill
Completion; Customer Class - Bill Completion; Service Agreement Type - Post-Bill Completion; Customer Class - Post-
Bill Completion 

Correct Answer: D 

 

QUESTION 2

Your client has installed scalar devices to measure the solar energy generated (Export) and the energy received
(Import) from the National Grid. This data is stored in separate measuring components (registers). 

The validation rules are generally the same for both measuring components, but there is one exception. The Negative
Consumption check applies only to energy received (import). Which two are possible configurations resulting in the
Negative Consumption rule being checked for energy received (import) only? (Choose two.) 

A. Modify the base VEE rule. 

B. Remove the Negative Consumption check from the VEE group. 

C. Create two different VEE groups. 

D. Use Eligibility Criteria. 

E. Use the Skip Flag in the VEE rule. 

Correct Answer: CD 

 

QUESTION 3

Which three statements are true in relation to Financial Transaction creation algorithms? (Choose three.) 

A. They control how the payoff balance is affected. 
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B. They control when a Financial Transaction is to be swept onto a bill. 

C. They control how the General Ledger details are created as these must always exist against a Financial Transaction. 

D. They control if and how the General Ledger entries are created. 

E. They control how the current balance is affected. 

Correct Answer: ABD 

Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18368_V1_01.pdf 

 

QUESTION 4

Which three statements are true about the different types of measuring components? (Choose three.) 

A. Seconds-per-interval (SPI) is one of the attributes of scalar measuring components. 

B. Only physical measuring components reference a device configuration. 

C. The terms register and channel are synonyms for measuring component. 

D. The measuring component types are physical, standalone, scratchpad, and TOU. 

E. Scalar measuring components contain a single measurement for an arbitrary period of time. 

Correct Answer: CDE 

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18293_01.pdf (36) 

 

QUESTION 5

Which three are important Account concepts that must always be followed? (Choose three.) 

A. Accounts expire when there are no active contracts. 

B. An Account can only reference one and only one person at one time. 

C. Every Account has a unique, system-assigned Account ID. 

D. Bills are produced for an account and are sent to the account persons. 

E. An Account references one or more persons. 

Correct Answer: BCD 
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